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Question bank –Diploma 

SE – EXTC     / SEM-III     /  APPLIED MATHEMATICS-III   

Inverse Laplace Transform
Standard Results 
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 n is +ve integer.

Type – I : Find the inverse Laplace transform of the following.
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Type – II : First shifting property :
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      (reciprocal difference)

Type – III

Inverse Laplace transform of Derivative 
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Type – IV

Division by s
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If 
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Find the inverse Laplace transform of the following :
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Put 
4u = x2


2 du = x dx
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Type – VI

Using convolution theorem. Find the inverse laplace transform of the following :
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Type – VII

Partial Fraction : Find the inverse Laplace transform of the following :
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put s2 = x
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Let s2 + 2s = x
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